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BEAE: RYFTAR SmA% 67N (Bt 59N - &tE:8A)
HDCPERR : 5314 :36.4 - &Mt :40.4 HTHHYITH: FT)L/— (PAR x 2)
ELA—L: OUT @®® IN @B® a/2
RIEHLRE : A—NYT 4 AV bNYY FNml - %01 54 1A288 ()

JIE iz ZmEA ouT IN GROSS HDCP NET k=
B B el X5 51 40 91 2.0 | 67.0 A&
HEH Mg X 52 49 101 33.6 | 67.4 (A&

3 fi |iEiD FH 40 40 80 | 12.0 | 68.0 |AE

4 1 BiE % 49 48 97 | 28.8 | 68.2 |A#E

5 i |1£fk FEW] 46 44 90 | 21.6 | 68.4 |AE

6 | 5§78 %3 48 40 88 | 19.2 | 68.8

1 41 |5R¥ Bt 50 43 93 | 24.0 | 69.0 |AE

8 i ME EiE 44 42 86 | 16.8 | 69.2

9 L FE EHE 40 44 84 | 14.4 | 69.6

10 {7 |BR A H#th 45 45 90 | 19.2 | 70.8 |A#E

11 i #RE FER 44 39 83 | 12.0 | 71.0

12 51 | Bl —X 40 43 83 | 12.0 | 71.0

13 £ | AKX BEA 46 42 88 | 16.8 | 71.2

14 i | &% 5017 42 46 88 | 16.8 | 71.2

15 ff | KHER FIF0 53 50 103 | 31.2 | 71.8

16 i |8RH EF 45 39 84 | 12.0 | 72.0

17 6 | EA FZ 40 37 11 4.8 | 72.2

18 I | /MK ZEZH 53 48 101 28.8 | 12.2

19 i |BH &F 48 46 94 | 21.6 | 712.4 |KitEK

20 2 MK & 46 41 87 14.4 | 72.6 RUE

21 fu R K 47 43 90 | 16.8 | 73.2

22 i1 BB AEF 46 45 91 | 16.8 | 74.2 |kMH#EEH

23 i | #nK B 49 54 103 | 28.8 | 74.2 |\ %'43fu

24 i |2 RS 43 41 84 9.6 | 714.4

25 o | fEHE FIE 90 46 96 | 21.6 | 74.4

26 i A EFX 44 38 82 1.2 | 74.8

27 2 |FOH % 45 42 87 | 12.0 | 75.0

28 fiI B E5H 43 44 87 | 12.0 | 75.0

29 fL B/ H HE 50 49 99 | 24.0 | 75.0

0 i |£F FE 59 45 104 | 28.8 | 715.2 |RUE

31 4 izl Flz 56 93 109 | 33.6 | 75.4

32 I k% B 45 38 83 1.2 | 75.8

33 fif | /MM — 41 42 83 1.2 | 75.8

34 i Lk FE 48 45 93 | 16.8 | 76.2

35 i |§kE E=#X 52 93 105 | 28.8 | 76.2

36 fiI |#FE EE ol 96 113 | 36.4 | 76.6

37 i |[MAK &R 48 48 96 | 19.2 | 76.8

38 fiI | FER R 48 48 96 | 19.2 | 76.8

39 iz | — JLBE 49 47 96 | 19.2 | 76.8

40 £I |REA FTF 49 40 89 | 12.0 | 77.0 |RUE
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BEAE: RYFTAR SmA% 67N (Bt 59N - &tE:8A)
HDCPERR : 5314 :36.4 - &Mt :40.4 HTHHYITH: FT)L/— (PAR x 2)
ELA—L: OUT @®® IN @B® 2/ 2
RIEHLRE : A—NYT 4 AV bNYY FNml - %01 54 1A288 ()
(-2 ZmEA ouT IN GROSS HDCP NET k=
M L PR EHE 49 50 99 | 21.6 | 77.4
42 45 | 1EBE RX 52 92 104 | 26.4 | 77.6
43 L |£F ARE 44 41 85 1.2 | 71.8
44 41 |EH FHF 54 48 102 | 24.0 | 78.0
45 1 | S8 HIE 54 48 102 | 24.0 | 78.0
46 i HH FZN 45 50 95 | 16.8 | 78.2
47 41 £k EB 53 47 100 | 21.6 | 78.4
48 1 | 5% B 53 417 100 | 21.6 | 78.4
49 fI | S1E BXEF 52 o1 103 | 24.0 | 79.0
50 fiI | @ A 40 44 84 4.8 | 79.2 [RUE
51 i | & IEFM 53 48 101 21.6 | 79.4
52 fi &R =2 53 48 101 21.6 | 79.4
53 fu |R1& EB5H 50 42 92 | 12.0 | 80.0
5 4 | 5H E%5H 46 44 90 9.6 | 80.4
550 fu |EfR %5 = AR 45 48 93 | 12.0 | 81.0
56 f | ILE $REE 99 95 110 | 28.8 | 81.2
57 fu | BJIl A% 49 o4 103 | 21.6 | 81.4
58 fu A &% 55 48 103 | 21.6 | 81.4
59 fu Fir BE 58 95 113 | 31.2 | 81.8
60 i |ILUE Xk 53 44 97 | 14.4 | 82.6 |RUE
61 fi EA IEF 48 42 90 1.2 | 82.8
62 6 B =1 51 92 103 | 19.2 | 83.8
63 fiI #%iF HAith 50 51 101 14.4 | 86.6 |[BBE
64 4 = A 99 95 114 | 26.4 | 87.6




